Emhart

Teknologies
4 N

SMB128.00.14

\- /

Emhart Teknologies 2006.5.9

Emhart TUCKER/ (
Tel: 0532-25-88543; Fax: 0532-25-5408



EEC-

2.1995
SMB128
1 89/392/EEC
2 91/368/EEC
3. 93/44/EEC
4 93/68/EEC
5 73/23/EEC
EN60 204-1 09.20008
EN60O 742 09.1995
DIN
VDEO0100 03.1973 ff VDEO0110-1 04.1997
VDEO0470-1 09.2000
I[EC-

IEC60 529 09.2000



3.SMB128/
3.1 SMB128/

o N o O

10.
11.

2.1
2.2
2.3

4.1

4.2 SMB128/
4.3 SMB128/

4.5

8.1
8.2
8.3

8.4 SMB128 /
8.5 SMB128 /

8.6
8.7
8.8
8.9

. SMB128.00.14

/

o A DA W -

© o0 ~N

10
11
14
15
17
17
18
19
20
21
23
23
24
24
25
26
26



SMB128/

(WOP

LED

LED



Danger

Precaution

S S

Note




B




&

SMB128

EC-

&

2.3




3. SMB128/

=
®
=,
El
=)

OFF




QRERTRSS
;::;
ITHEEEL b
| | MI
, E::;r 3
5 ol E:::
ik
I

326

G¢S BdG98 ®D

08T S¢

3.1 SMB128/
SMB128/

114

185




SMB128

10mm




4.2 SMB128/




@)

400/440/500V

0O00oco C]G]D

155 1

i

4.3 SMB128 --TMP/DCE



44

A
[ ]

OFF
24V LED bar

1.

2.
3.

[ ]
45
1.
3 6bar
bar

10mm

10



24V

LED
LED

5. 24V

LED

ON

LED:

LED

LED

LED

24V

11



ON

3 6bar



B

bar

bar

0.6

(3

6bar)




Parameter)

24V LED

WOP

WOP

(Weld Outside Parameter)

LED

LED

14

WOP(Weld Outside



VAN

OFF

B

15




4

4

16



B

8.1

24V DC

[302] [403]

[411] S3/

[447]
H3/LED

17

[411]




8.2 SMB128

3.4

3.2

2.2

2.4

26
26

12
SN

3

26

26

3.4

3.2

1

=

il

o6

26

-

|l Ly T
O

|

51

|\o

12 G1/8

0.

SP-268

18



8.3 SMB128

X1 W1

x
ul

o
g
c
o
g
Fi

x
m

X2 / 0Volt WH VT

/70Valt GY/RD
24Volt BN avet
Code o6

Code B
VT

PK
v ) YE X2
RD/BU
-Ul B
StUd WH/GN
GY
BK

SKK__Channel WH

5y GN
A+ GY/BU

A WH/PK
B+ YE/BK
B- YE/RD

RD
WH./BK
WH/YE

o

raWala

N N

LN N NN 0N ON 0N 0N

JlFlzlkixlslciclomlolz|A@ ||z | |m|o |0 |o|D

LLL

N141F12<><Z<Cmmnzxmu1ﬂmmmmm

N

23-pal. %40 3 5 X407 23-pol. |

VARNA VA4 H1

1N40o4
1N4004

2 X4 vely

1N4004

N

2

Rafi 1.101@2 Raf11.82157.509

cp 1 X4

T H2

N

Rafi 1.101@2 2

Raf11.82157.5@9

S3 1

X4 +

8 N

Raf1 1.101@2 2

Raf11.82157.514

X110+ + X120+

X X
YPI1AR YP1B YP2

SMB128 840

19



8.4 SMB128

20



8.5 SMB128/

SMB128.00.14 / Z074 014

Pos

M186 083 P.6

SP-268 P.18

840 P.19

0001 MO11 277 1
0002 MO11 276 1
0163 MO022 467 M6X30 4
0004 MO061 555 1
0005 M061 553 1
0006 M061 554 1
0007 M061 556 1
0017 MO010 856 210mm 1
0023 MO77 640 1
0100 MO070 681 1
0115 MO71 441 O- 101.27x 2.62 2
0116 MO71 037 O- 12.00x 1.50 1
0131 MO051 392 TAP/D/BS56 2
0132 MO51 215 TSP/D/BS510 8
0133 MO051 004 TAP//D/BS44 4
0134 MO051 393 TAP//D/BS58 2
0162 M022 421 M4X8 2
0163 M024 689 M4X30 2
0168 MO020 926 M6X20 4
0179 MO040 007 Ba 3 6
0190 M040 021 B17 1
0191 MO040 429 12X18X1 2 1
0200 MO030 070 M16X1 5 1
0201 MO030 014 1ISO4032 M10 1
0300 M121 731 G1/8 1
0305 M121 851 T /D6 2
0306 M121 973 Y /D6 1
0308 M121 422 G1/8-D6 5
0313 M121 443A. FITTG G1/8 D6 15
0319 M121 612 G1/8 2
0320 M121 626 G3/4 1
0336 M123 055 MW AD6X1K 150 mm
0403 M124 643 REGULATOR G1/8 2
0405 M125 153 D40 G1/8 0-10 bar 2
0411 M124 452 G1/8-3/2 1 YP1
0413 M124 494 5/2 1 YP2

21




Pos

0414
0432
0447
0483
0501
0502
0503

0531
0532
0533

0572
0573
0599
0600
0601
0602
0603
0611
0612
0613

0690
0808
0920
0093
0094
0095
0096
0097
0098
0099

M125 407
M125 510
M124 875
M121 722
E001 137
E001 137
E0O1 137

E004 062
E004 062
E004 062

E101 890
E101 259
E101 232
E101 233
E101 234
E101 239
E101 279
E007 058
E007 058
E007 058

E110 260
M126 048
MO089 022
MO086 191
M086 190
M086197
MO086 195
MO086 198
MO086 196
MO086 193

G1/8
D6
G1/8

LED GN24-28V/DM9.1
LED GN24-28V/DM9.1
LEDYN24-28V/DM9.1

PG9 6-8mm
PG9
UK3N
UK3-UK103
FBR10-5
UK
ZB4

1N4007 1000V 1A
1N4007 1000V 1A
1N4007 1000V 1A

SKK R
SKK V

24V

SF
SKK

[ N = Ll R S

— =

[ =Y

P RPRPPOR ODNPEP R

S1
S2
S3

H1
H2
H3

X4

X4.2

X4.3

X4.4
V1
V2
V3

22




8.6

8.7
SMB129.00.18/ Z074 038

Pos.

M186 418
0002 M160 110
0004 M160 155 11/16-18
0006 M160 129
0010 MO77 622
0018 M025 621 M3X12
0152 MO027 121 M3X10A
0161 M021 521 DIN914M8X8
0171 MO090 466 DIN7346 3 5x 20
0172 M092 130 DIN471D12X1
0305 M121 422 G1/8D6
0462 M160 113 G1/8

2
0463 M160 143 G1/8
2

0501 E001 360 HAN 24E
0502 E0011000 BDY 23 BU
0503 E001 1002 ODU 35 QMM

23




8.8

N _ A@}}%‘)‘

N

)

2

N\
RS
50 g

N2

Q) F

8.9
SMB129.00.24 /7074 044
Pos.
0002 M160 107
0003 M160 108
0026 M160 131
0018 M025 622 M3X12
0101 MO070 087 (DM=12 5
0151 M020 361 DIN 963 M3X10
0161 MO021 521 DIN914M8X8
0171 MOQ090 470 DIN7346 3 5x 20
0305 M121 422 G1/8
0463 M160 111
0501 EO0O01 660
0502 E0011001 BDY 23 POLES X27
0503 E0011003 ODU 35 QMM X26




SMB128.00.14

24V DC
200mA

IEC529 P41

bar

bar

MO081 601 = 225
M081 602 = 1,000

0 6

15 40
- 40 75
10%  95%

< 80dB(A)

(L x W x H) : 320mm x320mm x185mm
(LxWxH) : 870mm x320mm x185mm

5 6kg

2006 5

25



10.

11.

26








